V.=(Mo+ Lo)/2
Vo=V +0,03
flog [Vo, V., Mo, Lo]

logarithm. V , Vo-Daten

uy=(\ - 550) / 50
log,=-0,35L)\~u

|Og LO = —O,BSDA—Usm]
Adaptation: A, =555
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log(Vim)=-0,02

1, .
¢ s\ =
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L=(Mo+ )2
Lo=L +0,12
log [Lo, L, Mo,

0

logarithm. L , L,-Daten
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uy=(A - 550) / 50
log,=-0,35L)\~u
log“ =-0,35U\-u ]
Adaptation: A\, =570
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u=(A = 550) / 50,

ToDo->CaCo
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log(L m)=-0,12

log  =-0,35u)-u ]2

log

|Og Lg = —0,35[J)\—U570]
Adaptation: A (=540

570

Ur=(A - 550) / 50,
=-0,35[-u 1,

maximum
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t4=0,01

3 Uy

Adaptation: A =520
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Ur=(A = 550) / 50,
=-0,350,-u |
=-0,350,-u |

maximum
log(“m)=—0,86
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Schwelle
t4=0,01
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|Og Lg = —0,35[J)\—U570]
Adaptation: A =505
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Uy=(A = 550) / 50,
=-0,350,-u |

maximum
log( m)=—0,57|

m=0,26
Schwelle
t=0,01

logarithm. -Daten uy=(A — 550) / 502 a
=(=.+Lg)2 log =-0,35U\-u ]2 =( +Lg)2
= +0,35 logL o= —0,35[i,~Us7(] +0,59
flog[ ", ,LoJ Adaptation: A | =520 CaSo
" Gz 570
. ) K maximum
1 log(" m)=-0,34 1
m=0,45
Schwelle
0,5 J 20,01 11
T /
0,8-3 -1 1 3 Uy
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log

logLo = —0,35[~ U570]
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uy=(A = 550) / 50,
=-0,35[-u I

T / 0,
t=0,01

maximum

Schwelle

3 uy

= +0,35 log\Vl, = —0,35[iy~U-.] +0,35
flog[ , .-, Adaptation: A ,=490 " aBo 0
1, 2 :
maximum
4 log(' m)=-0,34
m=0,45
Schwelle
0,5 20,01
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